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田村 一路 

C.2.3 

(1) 

𝜕𝑧

𝜕𝕧
= lim

𝑡→∞

𝑧((𝑥, 𝑦) + 𝑡(𝑝, 𝑞)) − 𝑧(𝑥, 𝑦)

𝑡
 

= lim
𝑡→0

3(𝑥 + 𝑡𝑝) − 4(𝑦 − 𝑡𝑞) − 3𝑥 + 4𝑦

𝑡
 

= lim
𝑡→0

3𝑡𝑝 − 4𝑡𝑞

𝑡
 

= lim
𝑡→0

(3𝑝 − 4𝑞) 

= 3𝑝 − 4𝑞 

(2) 

𝑝2 + 𝑞2 = 1だから、 

∃𝜃 ∈ [0,2𝜋) 𝑠. 𝑡. 𝑝 = cos 𝜃 , 𝑞 = sin 𝜃 

よって、3 cos 𝜃 − 4 sin 𝜃が最大値となる𝜃を求めればいい 

3 cos 𝜃 − 4 sin 𝜃 

= 5 cos(𝜃 + 𝛼) 

ただし cos 𝛼 =
3

5
, sin 𝛼 =

4

5
, 𝛼 ∈ (0,

𝜋

2
) 

よって、𝜃 = 2𝜋 − 𝛼のとき3 cos 𝜃 − 4 sin 𝜃は最大 

𝑝 = cos(2𝜋 − 𝛼) = cos 𝛼 =
3

5
 

𝑞 = sin(2𝜋 − 𝛼) = − sin 𝛼 = −
4

5
 

よって、𝕧 = (
3

5
, −

4

5
) ,

𝜕𝑧

𝜕𝕧
= 3 ∙

3

5
− 4 ∙ (−

4

5
) = 5 

(3) 

3𝑝 − 4𝑞 = 0のとき、 

𝑝 =
4

3
𝑞 

𝑝2 + 𝑞2 = 1に代入して解くと、 

𝑝 = ±
4

5
, 𝑞 = ±

3

5
(複号同順) 

よって、𝕧 = ±(
4

5
,
3

5
) 


